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Put your shoes outside and shut the door. {Change the voice)
(A} You are requested to put your shoes outside and shut the door./Let
the shoes be put outside and the door be shut.

(B} Letus put your shoes outside and shut the door.
(C) The door was shut and your shoes were put outside, N
(D) You must put your shoes outside and shut the door. NG

Fill in the blank :
They were planning to drive on into Nepal and home via Dethi.

(A) theirs (B) than
(C) there (D} thence

Join and make simple sentence :
Homer was a great poet. He was bom somewhere. Nobody knows whera,

(A) Homer was a great poet who was bom somewhere nobody knows.
{B) Homer was a great poet who was bom somewhere nobody knew.
(C) Nobody knows where the great poet Homer was bom.

(D) Nobody knows that where the great poet Homer was bom.

Fiil in the blank :

There is no Hindu knows the story of the Hamayana.
{A} who (B) which

(C) but (D) that
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